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The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of
the Question-booklet at the places provided for the purpose and nowhere clse, ofherwise
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TIF-GHTH & ST STy Ay STl SgHHE 7
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SCHOOL ENTRANCE TEST, 2017

CLASS : XI
RET : XI
ARTS & COMMERCE
el Qg gy

Time : Two Hours } [ Maximum Marks : 100
9 & q2] [ {1 : 100

1.

| Read carefully the 'Instruction for Amswering gwen on the |

Answer Sheet and answer the guestions as directed : :
aﬁ'{:ﬁwﬁvw‘aﬁ?&ﬁaﬁwﬁﬁﬂqeﬁﬁf’W#
| 78T ST [dengare v @il -

IMPORTANT

Which of these countries is not a permanent member of security
council ?

(1) Russia (2) China (3) France (4) Germany
$H @ BF-T 3 Y aRwg ol aee J8 &7
(1) =% Q) #= (3) g (4) ST

Which of the following i% net a Constitutional body ?
(1) Election commission (2) Planning commission
(3) National Advisery council (4) Interstate couneil
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I # B wifefae e F@F R 7

(1) A= =M (2] QIS Sy
(3) T weEw afivg (4) e aftug
3. Which of the following countries has one party system ?
{1) U.S.A. (2) England (3] France [4) China
M= F @ fee 3w o UspRAly ogeRey ® 7
1) et (2) Fvg (3) i @)
4. Which of the following iz not essential element of state ?
(1} Land (2) Democracy (3] Population (4) Sovereignty
et | B g @ erfaard o 7@ B 7
(1) o (2) TR (3) SEEAT (4) €IHm

5. How many language are recognized in the VIII" schedule of Indian
Constitution ?

{1y 22 (2} 23 (3) 24 (4} 25
ety i @ enedt aggEl § FEe wmned @ weear o
%7 |

(1} 22 (2) 23 {3) 24 (4) 25

6. There is no official religion for ............... :

(1) India (2) Pakistan (3) Srilanka (4] Nepal
............ = HE UTART gH Tl B
(1) #T (2) wikemt  (3) = (4} urr

7. InlIndian Constitution, the concurrent list has ........... subjects.
(1] 45 Q) 46 (3) 47 @) 48
g wRar # e g # frvg ¥
(1) 45 (2) 46 (3) 47 @) 48
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Who is the author of the book 'Jungle Book' ?

(1} Jane Austen (2) Milton

(3) George Eliot (4) Rudyard Kipling
ST gb Brasht e § 7

(1) 7 . (2) Prees

(3) Sifst gferae (4) oA T

National Rural Employment Guarantee Scheme (NREGA) was
launched in the year :

(1) 2004 (2) 2005 3) 2006 4y 2007
TS wrfer Jorre g Ao (M) R ad wrow gd 7
(1} 2004 (2} 2005 (3) 2006 (4) - 2007

Which of the following countries has highest rank in the Human
Development Index ?

(1) Srilanka (2) Bangladesh (3) Pakistan (4) India
Aa A gasis # g @ fim-ar S o &7
(1) fiwer (2) @iFemasT (3] RS (4) s

Right to Life' is recognized under which article of Indian
Constitution ?

(1) Article 17 (2) Article 18
(3) Article 19 (4) Article 21

IeiE wieaH @ e erde § e Y w1 s ofaigs
z?

(1) o= 17 (2) o 18
(3) «F=WT 19 @) ST 21

5
(5) F.TO.
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12, How many members are nominated by the president for the Rajya

Sabha ?

(1} 10 (2) 11 (3) 12 (4) 15
AUy egear & o e wewdl @ g we ¥ 7
{1} 1o (2) 11 (3) 12 4) 15

13. National consumer Day is celebrated on .............. :
{1} 24th December (2) 25th December

13) 26th December (4)  27th December

.............. BT IEIGT HI 21

(1} 24 Bg=w (2} 25 fEE=T
(3) 26 Rygm (4) 27 feg=

14, Who among the following was not associated with Non Alignment
Movement (NAM) ?

{1} Tito (2) Nasir (3} Nehru (4) Stalin

fer of & iy wyefader oTEierT A gt 78 o ¢

OEGE (2) "y (3) & (4) w=iferd
15. Who chairs the joint session of Lok Sabha & Rajya Sabha ?

(1} Prime Minister (2) President

(3) Lok Sabha Speaker (4} Home Minister

S gar T T WA B HgEd AR B 7l HF B §
(1} s (2) et
(3) eEREH SeE (4) T

(8)
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16. Under which article of Indian constitution 'Right to Equallt} is

explained ?
(1) Article 14 - 18 (2) Article 23 - 24
(3) Article 19 - 22 (4) Article 32
AT dieam $ B erpEde § wHar o st afie ¥ 7
{1) sg=_% 14 - 18 (2) Srg=s% 23 - 24
(3) =BT 19 - 22 (4) erp=T 32
17. Boriong Award is associated with : |
(1) Agriculture ' (2) Religion
(3) Industry : (4} None of these
SIEATT g Tt 2
ra (2) = &
3 TEa | 4) £ § g 7L
18. 'Muktivahini' fl:-ught for the freedom of ............. :
(1} Tibet . (2) Jarnmu &.Kashmir
(3} East Pakistan,’Bang_Iadesh {4} West Pakistan/Pakistan
afwf & A ) w3 R e @
(1) R (2) Y PR wperr

3y udt wfa Aareme (4) ufed o= qfeeTT

19. Who was the Chairman of Objective Resolution Committee of
Indian Constituent Assembly ? :

(1) Mahatma Gandhf (2} Sardar Pate]

{3) Pt. Jawahar Lal ‘Jehru (4) Dr. Rajendra Prasad
Wétqaﬁmaﬂr%ﬁﬁﬂmmﬁfﬁ%m%&

(1) Ferew v - (2) HER gy

(3) Yo WEIET W A5 (4) Slo T e

(7}
PTO
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20. 'Panchasheel’ agreement signed in 1934 was hetween

o .
{11 India & Pakistan (2) India & China
(3% India & Nepal (4] India & Bangladesh
et &1 Tl o g deasfer @ffe 1954 F @ B ¢
(1} T s o (2) W A =
(3) SR AT AU (4) wRd &R qEERET
21. Gandhi Sagar dam is constructed on :
(1) Mahanadi ' (2) Chambal river
(3) Tapti river (4] Suthyj river
RDTREZ15 e 11 R oY AT #
(1] w@r=er (2) =FaeT A4
(3 i iy . (4) HegsT Al
2. The western coastal strip- south of Goa is referred to as :
(1) Coremandal (2) Kannad
(3) Konkan {4} Northern Circar
Mer % afaor F feam ofiew adfta @@ CERIai
(1) @®Rmrea (2] e
(3) AR : | (4) FAH GEER

3. By how much is the time of Varanasi ahead of [ST ?

{1} 2 min. 3 sec. " (2) 5 min.

@) lmin (4) 3 min. 3 sec.
amgﬁﬁzmﬂﬂﬂ?ﬂﬁmwwﬁﬁﬁﬁraﬁ%?
) 2 B s @ 3 B ﬂ
3 | fAe [4) 3 e 3 O=vs

(8)
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Choose the non-ferrous mineral ;

(1) Bauxite (2) Manganese
(3) Chromite (4) Iron ore-
(1) SterEgE (2) e
(3) =HmrEe (4) e v
'MAHAWAT' is associated with ................... .
(1) Retreating Monscon (2) South-West Monsoon
(3) Summer Season (4) Western Disturbance
e . q et &)
(1) Frafia wegs (2) =feror-ufeari ArEH
(3) 4™ ®mg C(a) ufesft fae
Ozone is found in ...............
(1} Troposphere " (2) Stratosphere
(3) Exosphere (4) Tropopause
1 o A I ol S B |
(1) -airryose (2) “EEOTETER
(3) afedves (4) ey dm
Which one is the shortest day in southern Hemisphere 7
(1) 22, December (2] 21, March
(3} 23, Septamber ' (4) 21, June
afgelt A ¥ w94 B Ry Pl
(1) 22, REax (2) 21, anf
3) 23, faeea @ 21
(9}

PTo
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28. Tungabhadra is a tributary of

................. river.
{11 Krishna ‘ (2) Kaveri
{3) Godavar (4) Narmada
TETET ... T FEEE TE 8
1) om - (2) wAd
(3] A (4) HHET

29. Which state is the largest producer of rubber in India ?

(1} Uttar Pradesh (2) Karnataka
(3) Kerala (4) Tam:l Nadu
RIES IR TG EA R G BT i M) 5 B

(1) IOT 997 (2) =ATew

(3] ke (4) <

30. 'Sericulture’ is assoviated wilh

(1) Dairy (2] Flower

(3) Fisherv (4} Sitk production
Sivpegy a9 yEET B 7

(1) Tg SO (2} T T T

(3] e I (4) Fom e

31, Which state has the .argest area under permanent forest ?
0 punjab (2) Haryana
(3) Lvuar pradesh (4) Madhyva Pradesh

1 T A A Wl B Y

ma O ﬂ

" - (2) BT
7l

(! 3t (4) Teg N

@ T

10
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32. Which type of soil is useful for cotton production ?
(1) Alluviai soil (2). Red soil
(3) Black soil (4) Laterite soil
FUTH IQET H a1 H HH-E1 WHT I9AE s & 7
(1) s g @) ‘e T
(3) =l e (4) TI®E T
33. ijectt tiger was launched in l: |
(1) 1973 (2) 1974 ([3) 1975 ) 1976
I G F IO & 7
| (1) 1973 (2) 1974 (3) 1975 (4) 1976

34. Which of the following river has the largest water area ?

(1) Mahanadi {2) Narmada
(3} Krishna {4) Godavari
e o § Brg 9 S weor @9 matfes ¥ 7
(1) "em (2) T

(3} FHum (4) Tirarerd

35. On which river Indo-Pak Bagalihar in located ?

{1} Chenab (2] Jhelam

(3] Ganga (4} Sutlyj

(11} P.T O,
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WA Uik SdfEER ofimwEr ey 98 qr e R 7

(1) =T (2) SreT
(3) g (4) Bt

36. When did Germany withdraw herself from the 'League of Nations' ?
(1] 1933 (2) 1934
(3} 1936 (4) 1939
Al F wa ey ® wd B AT w7 e ¢
(1) 1933 (2} 1934

(3] 1936 (4) 1939

37. Kanishka established his capital at :
() Magadha (2) Purdshapura
(3] Karnal (4) Ajmer
Feh F A T wET wnfua &t ?
) e @) oI
(3] A (4) SR

38, In which year khilafat committee formed in Bombay ?
(1} February, 1919 (2) March, 1919

(3) April, 1919 (4) May, 1919
(12)
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dwl A faeied Frfhfér Fl e FHd ey w4 ?
(1) w@&d, 1919 (2) =rd, 1919
'[3} e, 1919 (4) =%, 1919
. In which year kheda Satyagraha took place ?
(1) 1914 (2) 1915

(3) 1917 | (4) 1921
Q3T wene e af § gey ¢

(1) 1914 (2) 1915

(3) 1917 (4) 1921

. Who is the author of the book 'Gulamgiri' ?

(I} Jyotirac Phule

(2) B.R. Ambedkar

(3) Ishwarchandra Vidyasagar

(4) Periyar

T Rt e R 7
(1) v

(2) dlo 3o Irqewpt
(3) $vRT= EEIA
(4) Afar

{13) P.TO
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41. Who created the very first image of 'Bharata Mata' to spread
nationahsm ?
(1] Jawahar Lal Nehru
(2) Rabindranath Tagore
(3] Mahatma Gandhi
(4)  Bankim Chandra Chattopadhyay
qATET 7
(1) Sty @ Je
(2) xdi= =77 BT
(3) wWErHr STl
(4) =T == FEorEEE

42. Which pair is not correctly matched ?
(1) Kalhana - Rajatarangini
(2] Jayadeva - Gitagovinda
(3] Chandbardai - Prithviraj Raso
(4) Kalidas - Kathasaritsagara
fepmfeifiaa & <fra-an Sret wE Tel € 7
(1) weeer - TeEe
() FURE - TEmEs
(3) Hdaarag - 9T 218
4y i - ETRIRECIIEES

(14)
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43. Name the placc where the resolution for complete independence
was declared ; '

{1) Calcutta (2) Bombay
(3) Madras () Lahore
I W H AT FAORT TG gl @ wouEg ot ger ¢
(1) TR H (2) s
(3) =" | (4) W
44. When did the first cotton mill come up in India ?
(1) 1853 (2) 1854
{3) 1855 (4] 1856
m.ﬂﬁﬁmwﬁmm_ﬁwﬁagaﬂ?
(1] 1853 2) 1854
(3} 1855 (4) 1856

45. Who laid foundation 'Young Bengal' in India ?
(1] Raja Ram Mohan Roy
{2} Swami Vivekananda
(3} Ramakrishna Paramhansa
(%) Il-if:nry Vivian Derozio
‘TET W’ ] WG ARG femey o ?
(1) sw 2w fed Y T
(2) I RreeEsr
(3) ST WHEH
(4) e CIE D %‘ﬁﬁ“ﬁ

(15y —

P.T.Q
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46. Champaran Satyvagraha was mainly associated with :
(1) Tea () Indigo
13y Cotton (4) Wheat

T HYEIE eaa: T 4] !

(1} =™ 9§ 2y T |
(3] FUrE # (4) TE A
47. Frém which couﬁtnf renaissance started ?

(1) Portugal (2) England
(3} France (4) Italy
JHSIIRYT 7h7 g fRE dar | g ¢
) RSBk (2) TS
(3] =™ (4) zei

48. Who was the founder of 'Young Italy' ?
(1) Mussolini (2) Bismarck
(3] Mazzinm | (4] Hitler

oy Zady o ATl @ A 7

(1) TENer (2} T
(3) Afe () femm

49 Who among the following was not moderate ?

(1) Firoz Ghah Mehta (2) 8. N. Banerjee

(3) Bd Gangadhar Tilak (4) Gopal Krishna Gokhaie

(18)
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i & B T T a7

(1) 60T ame fwen - (2) THo o &el

@) =T T R (4) e o e
50. In 1784 William Jone;s founded ‘Asiatic Society’ in :

{1} Bombay (2) Madras

(3] Allahabad (4) Caleutta

1784 o & Rfermw wieg 3 ‘ofirmfes dEEd @ wnear wE &

i ?

(1) = . (2 =T

8 weEm (8) Fo
31. Through two points :

(I) noline can be drawn

(2) aunique line can be drawn

(3) - more than one line can be drawn

(4} None of these

o fag )

(1) +g ¥ Y@ T& 99 wawd

Q) wh T Yar = R &

(3) =% @ AfE Tar Ty F

4) @7 @ e

(17)
P.T0.
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52. If 17+ 20+ 3%+ .. + g% = 2025, then (0.11)* + {0.22)° +
............ + (0.99)° will be :
(1} 0.2695 (2] 2.695 (3) 3.695 (4) 0.3695
gfe 13+ 23 + 3% + + 90 = 2025, & (0.11)* + (0.22)° +
............ +(0.99)° BIT
(1) 0.2695  (2) 2695 (3 3.695 . (4) 0.3695

53. The area of the shaded region is :

7 cm
7 cm
{1} 12 cm? 2) 14 cm?
(3) 12.5 em? 4} 13 cm?
ra:;m"ﬁ}#{ AT TR A 2
7 g4t
7 &
(1) 12 & 2) 14 a9
(3) 12.5 @H [4) 13 &

54, What is the difference between compound interest and simple
- terest for 3 years at a rate of interest 10% per annum for
in ~

1000 ?
Rs. | Z 30
U @) 33
(3) 372 ,

(18)
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o 1000 &I 10% 41t == #il o § 3 ad =1 gwgfs == aon

AT =T a7 37T &
(1) 31 2) 30

(3) 32 (4} 33
Every rational number is :
(1) A natural number
{(2) An integer

(3) A real number

{4) A whole number
7% aftim wer ¥ -

(1) T%F SEEiF e

2) = g

(3) ux A et

(4) B Tf He

In India 'The National Voters Day’ is celebrated on :

(1} 22, January
(2} 23, January
(3] 24, January

(4) 25, January

(19)

A.T.C
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SR ® ey Grex Bew g R e e s ® 7
(1} 22, =g
{2) 23, s
(3) 24, sHaI
(4} 25, s
57. The first chief minister of Uttar Pradesh was :
(1} Jai Prakash Narayan - (2) Kam!a Pati Tripathi
{3} Govind Ballabha Pant (4) C.B. Gupta

THT ARRT T e pesih &

(1) </ SreT ATOH (2) eenafe A

(3) M Fewrd 9 (4) o o g
58. The currency of Japan is :

(1) Yen (2) Dollar

(3) Pound (4) Dinar

(1) (2) SRR

(3) WETE ' (4) T

9. Who is the present governor of Reserve Bank of India 2
(1] Raghuram Rajan (2) Urijit R, Patel

@) M arymohan Singh 4] D. Subbarao

(20)
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st Rord ¥ & g et B ¥ 7

(1) T qHT {2) SRtT @Ro qea
(3) IR fife 4) $lo gmE
Who was the flag bearer for India in the Rio Olympic (2016) ?
(1) P.V.Sindhu @) Saina Nehwal
(3) Abhinav Bindra (4) Sakshi Malik
RA S (2016) & e v ssres A o 2
(1} 9o dto foryg (2) WET e

(3) AT R (4) Wl uies
Which is the synonym of the word - OPULENCE 2

(1) Luxury (2) Lascivious

(3) Penury (4) Puerite

Smoking is injurious to heaith. ‘Smoking' is used here as a -
(1) Conditional |

(2] Determiner

(3) Gerund

(4) Modifier

What is the synonym of the word - DISDAINFUL, 7

(1} Contemptucus {2) Frantic

(3) Distrustful (4) Coamepicyous

(21) PT O
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64, 'Shylock' is a character in which of the following text ?
(1) Macheth (2) Tem;r:lest
(3) The Merchant of Venice (4) King Lear
65. 'The wind was the angry witch'. 'Witch' hereisa
(1) Simile (2) Personification
(3) Metaphor (4} Metonymy
66. The study of how people vote in elections is called :
(1} Electorate (2] Referendum
(3) Psephology (4) Electoral psychology

87. A type of grey stone that comes from volcanoes and is very light in
weight is called :

(1} Pumice (2) Revile

(3) Fauve A Pectin
§8. What is the meaning of the word - INSOLENT ?

(1) Inscluble (2) Maim

(3) Rude {4} Insouciance
69. Which of the following is & distributive pronoun ?

(1) Who {2) What

(3) Some (4) Yourself

(22)
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Which is the correet passive voice of the sentence ? "People say
that he is honest."

(1} He is said to be henest.
(2) It is said that he was honest.
(3) He is said t0 had been honest.

(4} That he was honest is said by the people.

Which of the following sentence is wrong ?
(1} We have had enough training

(2) The radio broadcasted the news last evening
(3) Ifit rains, we shall not go to school

(4} If you heat ice, it will melt
Fill in the blanks -

In Britain more people drink tea ... y

(1) some coffee (2] More coffee

{3] no coffee (4] than coffee

Choose the alternative thar best expresses the following idiom :
Apple-pie-order ]

(1) in disorder (2] 1in a trouble

(3) in good condition ' (4) inahurry

Fill in the blanks with aplopriate prepusitim'l_ ;

The sun sank ......coooeiin the hil.

(1) above ' @ up

(3} down (4] under
{23)

P.To
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75. What is the plural of the word - Fungus ?
(1) Fungi (2) Fungesses
(3) Funguses (4) Fungsics
76. ‘¥ § &t sa-fgeir SEC A SA-HT SR B 7
(1) o9 (2) 3941
(3) =T ' (4) I

77. '“&YE'JT?HT%E@HT’EEIG-T%?%:
(1) 2aEE e

(2} SrmyEeEr Al
(3) Hhe WA FIAT

[4) HEEd qr o
78. ‘W@Wgﬂﬂﬁé%@ﬁfgﬁwﬁmﬁmm
2
(1) S8 (2) EwEErd
(3) frw=q - (4) |Hl |

J9, % RE A wE B A ® 7
() 1% (2) ™
(3} - - (4 W
g0, fRretArEd # 5 fr-H g8 W 38

(1) SR {i; CRAUIE
3 A () S
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A+ T = dew Reg dfr @ Sger B

(1} ovfy (2) &
@) vy 1 @) T
%E W G B @ oared ¥
(1) =& s (2} T F I
(3) FgT = & - (4) g B
T - o W g - 7 @ gk A

g - e g - 7

&) T AR (A ww

(@) #rﬁﬂ%gr (B) AT

() 3w Brger [C} T H e

(7) e (D) SR-BI T

(1) ®-C,E-BT-A9-D (2} ®-D,® -C,7T-A,9-B

(3} F-B,T-A7T-D,g-C 4 F-D,g-C,T-B,g-4A

‘T aEy SN AwE A $ R oF s w7 ow S

(1) smeEa _ {(2) ALY

(3) I | (4) T

U + T W O J s gy

(1) e . (2) "

(3) AR (4) T
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86. T W W= W1 Iuad 8T 8
(1} T (2) I
(3) BT (&) Ed
87, ‘o Rey me udr 93 9% - OfRT A B
rm T TH (2) W& TH
(3} AT T8 {4) sfa ™
88. F=ifeifing & @ @e-87 aof svoareeT # gt § = FE@r e 7
(1) d (2)

(3) ® | (4) =

89. ‘wmmrE’ @ fy fa=ow B
(1) g + g 2) H + #AF™A

(3) =+ 44 (4) @ + I

90. gy SEGH & THT AT @ g afew &t Fea far & 3=
3 9

(1) =B (2) H1eH
(3) FB (4) et

91. The Reserve Bank ol India came into existence on :
(1) 1stApril, 1936
(2) 26th January, 1894
(3} 15th August, 1047

{4.] 1st API’I‘I 1947
(26)
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T Red S 3 e w9 gl ¢
(1) 1 3@, 1936

(2) 26 S, 1894

(3) 15 ey, 1947

(4) 1 o, 1947
92. The National Stock Exchange (NSE) is located at -
(1) Mumbai (2) New Delhi
(3) Chennai {4) Kolkata
USRS 91 e Ry © 7
(1) =g & (2) 7% Reh A
3) o= & (4) i 7
93. The contribution of agriculture to India's economy is ;
(1) Constant . (2) Increasing
(3) Decreasing | (4) None of tﬁese
W st 8 PR B A 3
(1) R (2) =ear gsw
(3) =T gem (4) T ¥ o

94. Which one of the following is not the function of money ?
{1) Medium of exchange
[2) Store of value |
(3] Allocation of resowroes

(4) Money as a unit of measurement

-p_ N
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fr & & % e =1 =4 T8 2 7
(1) T&i™g = A"y
(2} " H AUER
(3) HawHl @1 stEen
@) T AT H
95. If total utility is decreasing, then marginal utility must be :
{1} Negative
(2) Decreasing at an increasing rafte
(3) Increasing al a decreasing rate
(4) Positive
mﬁﬁﬁmﬁﬁlﬂfﬁfﬁjﬁmwﬁﬁmmw#ﬁ:
(1) FHITH
(2) ol &€ 9T Al gk
(3y el & OX dedl ER

(4) AT

gg. Which of the following factors of production is most likely to be
yariable in the short run ?

{1] Land
(2) Labour

3) Entrepreneurship

(4) Capital

(28)



97.

g8.

SET/17/20/X1(A)/(2)

e F @ B8 SR % 9T oI | uitedHshia a9 B 7
(1} o

@) =™
) s

4 ol

Economic causes of under development of India is/are -
{1} Market imperfections

(2) - Predominance of agriculture

(3) Lack of technical knowledge

(4) -All of these

TR ¥ e Ry B anfie e B

(1) = srgofey

(2) B F g

(3) TR ST T gt

(4) E'Ilgilﬁﬂ'*ﬁ' i

Under disguised unemployment marginal productivity s .
{1} Equal to zerp

(2) Equal to one

(3) More than one

(4) Infinite

P.T.0,
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99.

100.

(1) g % SREY

@ w5 T

(3j uF | “gwET

(4) =<

The law of Demand refers to

(1) Price-cost relationship (2) Price-supply relationship
(3} Price-income relationship  (4) Price-demanad relationship
‘AT T P sawr €

(1) Hoa-arm & (2) TEE-gE T

(3) HTH-T T (4) Tg-HN

Who is called as the 'Father of Hconomics' ?

(1) Adam Smith (2) Kautilya

(3) David Hume (4) Alfred Mars_hall
‘ardsrem @1 R (fr) R wea B 7

(1) a3 & (2) @ieed

(3) 2fs = (4) TR T

(30)



